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CERTIFICATE IN ORGANIC FARMING (COF) 

Term-End Examination 

December, 2018 

BAPI-001 : ORGANIC PRODUCTION SYSTEM 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry 

equal marks. 

1. 	Define the following : 

(a) Eutrophication 

(b) Seed Dormancy 

(c) Green Manuring 

(d) Buffer Zone 

2.5x4=10 

	

2. 	Differentiate between : 	 2.5x4=10 
(a) Aerobic and Anaerobic 

(b) Silage and Compost 

(c) Minimum tillage and Zero tillage 

(d) Roughage and Concentrates 

	

3. 	(a) What are the subsidiary activities possible 
at an organic farm ? Why are these 
essential ? 	 5x2=10 

(b) What is Buffer zone in Organic Farm ? 
What is it's significance ? 
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4. (a) What is the principle underlying 
composting process ? 	 5x2=10 

(b) Vermicomposting is different from 
composting. Explain. 

5. (a) Enlist the advantages and disadvantages of 
botanical pesticides. 	 5x2=10 

(b) What are Mycoherbicides ? Give an 
example. 

6. (a) What feed ingredients are prohibited in 
organic livestock ? 	 5x2=10 

(b) What are the differences between Hay and 
Silage ? Which is better cattle nutrient 
source ? 

7. What do you understand by biofertilizer ? What 10 
is their significance in Organic Farming ? Also 
list their limitations. 

8. Write short notes on the following : 

(a) Contour irrigation 

(b) Permanent wilting point 

(c) Azotobacter 

(d) Biopesticide 

2.5x4=10 
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